COMPOUND INEQUALITIES AND ABSOLUTE VALUE
A Compound Inequality are two inequalities joined by the word AND  or   by  the  word  OR.    (See Example 3. )  
 Let A and B denote sets.
AND: 
[image: image1.wmf]Ç

  Intersection – the elements that both sets A and B  share   (The elements that both sets have in common)   

OR: 
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  Union – everything: what is in both sets entirely with no repeats 

Example 1      Let A = {1,2,3,4}    and    B = {3,4,5,6}
Find the following:
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Example 2  Let A = {x| x is an odd positive integer less 10}
                                                                        B = {0,2,3,4,5,6}
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Solve each compound inequality; put your answers in interval notation.
Example 3:  Solve:  
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Example 4:  Solve:  
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Example 5:  Solve:  
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More examples will be presented in class.
Example 6:  Solve: 
ABSOLUTE VALUE  
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(Formal Definition)

The absolute value of some number x, denoted by 
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  ,  is the distance that x is from the origin, 0, on the number line.  Since the absolute value refers to distance, the output of an absolute value will always be 0 or a positive number; that is, the output of an absolute value will be  non negative number.  

If X and Y are any algebraic expressions and a is a non negative number:
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         Use parenthesis on Y.
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